PE IR/ N 0RREE R 5 13 H BATRANSETR ABL148+1 A
?;j 115185 S 11A19H I 114208 = 11A21H R 1128 A
Y B e e B HE | eMe e o anes HE B Bt HE
EaEk{ IKG ik 67 kR Bk BREHen
= 0.6KG SHAEA: 1.5KG [ 0.6KG ZHER 0.2KG SN 1KG
AHEAT 1KG N 2KG SLZEESR 1KG SNGHE R(E ) 7KG HA 0.2KG
BREAT+ IKG| /N |BETFTERER<EN 10KG| I [sesce) I8KG| [T UN<AZS IKG| e 02KG
| T CAS) < FiE 11KG| A kE%@®) | S | EATUNG D 3KG| I [smps(IE <> SKG
§ s s E A 2KG LL% ;g AREZECN) 0.6KG
o = hy R+ KG| o TEBUR<TRE>(120) 18
T M| 3KG RGBS 215
FRAR <KZ> 4KG W& A <AhhE > 18
kg <+4:>GK) 1%
B4k 0.3KG LR R 2KG 4EEE R 1KG =i 0.6KG =5 0.3KG
= | 8KG = Q~Re=NEE)+ 8KG e TIRASFR<K 2> 1KG B 0.3KG £ TEEE<HET> 10KG
m | 1T Emscerors KG| m [RELE) | & |EIEECAS)IK)<E st| ¥ (s IKG| % | BT RICAS)<ERE> IKG
% | BE b L8KG| 1€ [HIEECAS)IK)I<EE S| 4 [RH& 2KG| ¥ | = ki CAS)(IK)<5 3
2 = * R Ko &
4 MR CE ee 3KG
= % | 0.6KG| #e |BH&HiR 11KG |t S 11KG § AR 11KG
£ | o |[BTRENEE 11KG| 7 bk “
Al 03KG|  |FkfE TKG| B |77 B k<R 150| 4 |E4% 02KG| It |aH 03KG
5 fé L 02KG| Sk [KEIDAZ> IKG ’QE s [ 6KG fﬁ EEI<EEEE(0.6K) 18
6 | e |ZEIEESCN 24| F oy HE |2 T (CAS)< EfE> 3KG| g [HURGERD + 6KG
5 |ig<t-2>(1K) 1| 7 £ 7 5 |iRE<E sk EE>(0.6] 1t
- s 1st| o |eemomaeE) <k 4> ey
=1 4169 =t 4568 = 3967 =t 3597 =1 4981
He B B He e
- Rl B b & ;ﬁaﬁJ & ﬁHJ HE iﬁﬂu &
i AR 3.7 HEHREE 3.8 BRI 42 BRI 34 BRI 45
= TREAE 24 TRENE 3.6 5@%@5 1 ﬂﬁ%t%ﬁ*ﬁ 29 EL%EW*E 26
= SHBSIE 3.1 SHASE 33 SHESIE 3.1 SHESIE 29 SHESE 3
N B 16 R 12 s 1.3 B 1.8 B 1.1
o KEH K 1 AL 1 K LI
B 619 BECKF) 715 B (KR 661 BECKF) 631 BEKF) 673
R S A fek




FFEFHD-BIR2E I SR ERPAC LR F¥ FHF BB R
¢{ﬁﬁm'$¢¢%¢taw&ﬁ$'a%ﬁsﬁﬁﬁg

A3
1.
2.5 HFERES AP

avé-»l&\:p.



FRERRURL<E AFE>(G450EEAF

21282



